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= x*cos3x — x’sin3x = 0

B x* (cos3x — xsin3x) =0

2 G(x) = cos3x — xsin3x

G'(x) = - 3sin3x — sin3x — 3xcos3x = — 4sin3x — 3xcos3x

o0 )

TN — _dein( - T . _Ty
G'( 6) 4sin( 2)+2cos( 2) 4 >0
G'(0) =0

G'(%) =—4sin(%) —-g—cos—g— =-4<0
- E(-%,O)LG’(x) >0,(0,%> E6G'(x) <0
ATy FE( - l 1) WAESAEA,7Ex = Oy’ A5, FTL R RRES, EE(—— 0) i

y BIBE S B y ' A S 75 (0, 1) Wy BIBE S B y ' AE S BT AMRIE A
9. [iiE (B).
[%M] %£84-B - L( - e ), L 2alnx

2

l1-x 1+x 1 -=x
ormima-a - [Mllag [ Bl 4 iy 4,
Bl A =2B #%(B).
10. fj#% (B).



C04(0.1) = limFEATY) ~flxy) _ o sin(An)®
(8] £0,1) =0,/.(0,1) = lim 1 - lim A 1

y I
z=0

L. jigE (D).
[#M] Hr-2r=0,8r=082
SOFRABRXMBMKEER ¥ = C, +Ce” C,,C, eR
T or=2 o ®y=x-e"(Bx+B,) .. (D).

...............................................................................................................

12. r“ (B).
[#M8] #/(a) #0, EARIKFHEUA] [fx) '] | m >r” 1N |f(<a)>rf(“> b
HAHE(C) AI(D). (4 f(x) fEx = a W%, HAa) %08, | fx) | fx = a KATE).
% f(a) =0 f
tim SRR < im ‘f—wl:;“) =-1f(a)l,

ERADHIR f(2) | FEx = o QWA ZZFEE, H/(a) =08, | f(x) | fEx = a iR
Al R FEE R R EWKXAHE, B (a) # 0B, ?Eﬁ(B)

e —&Q"ﬂ:)-‘li"(x')i.f

......................................................

15 s (A).
(#M] %z [0, 7|0 sine AWM, cose AP, X sine < x,

bl Y x e (O,%),sinsim: < sinx  cossinx > cosx, i,

k.

= m
2, 7
I, <L sinxdx =—cos:\:‘02 =1,
- .
2 . 7
I, >L cosxdxy = sinx =1.
0

FRAL <1 <1,
4. ik (D).
[¥8] HBoBRsE

Llf(x)dx = f[fe"zdt]dx = [Ja%} " —lee"zdx
= e -2 = 2| = L -,
Elﬁ:ﬁ(D)

] ww[tuie

5. Kk (D)
(]  SAHAKT—AMEERIRI
i P e




ax +a,y+a; =0
{blx +by+b;, =0
gx +ey+e; =0
AUE—F, B r(ay,0) = r(a,a,a;) =2, A 0L(D) AIEHHED
16. pizE (C)

[#M8] W& Al =0,MAA" =1 Al E = AA"

n
2
a; ap a, Y @ 4y a, Za,j
. T =1
sAAT = " s e oo e W aes = 4 # 0
a, a, o ay, a,, a,, o a,,

oA,

17. i (C)
[###&] - B=4P,P, . B"' =P'P;'A" = P P,A"".

18. NLiE (C)

[#&] r(3a, +5, +a; +7ay, —a -3a, - 3a; - 5a,,3q, +2a, + &, - S5ay,2a, +3a, +4a,,5a, +

da, =Tz +ay) =r(B B B3 Bs»Bs)

3 -1 3 2 5
5 -3 3 4
(Bi:B2+Bs B4 »Bs) = (a.lia2'a3’a4) | -3 0 -7
e ) \T -5 -5,4 1
(e ,a,0,a,) =4 — |
3 -1 2 5
5 -3 3 4
= 1(B1 B2 »Bs sBa Bs) —’1 _3 0 -7 =3.
7 -5 -5 4 1
19. JjiE (D)
1 k1 1 k 1
(] (2 1 1[0 1-2k -1]=3-5kk»=2,3-5k#0, AHEM
0 k 3 0 k 3
20. [k (B)

(@] B9 B RRIEEN 1.2,3. 8 = AEMHERL =E AT X ARERE. £ A, C,D MAFHE®E
BH1,1,2;1 H_FMR,Mr(E-A) =r(E-C) =r(E-D) =2, )\l L {UHE—IERHFX
FARFAE ) B 5 FEAHR B, AT ETH A (C D AREEX A fL.

21. i (D)
(8] ERFHTREBA B A B AT ARARIE AB = BA, filtn
1 1 1 0 1 2 1 1
A= (0 1)’B - (0 2)’:€AB - (0 2)ﬁﬁBA - (0 2)
AHI(A) (C) HAIER.
_ABEIHE A + BAR—EAE, BME A + B LS, JE A% T AT + B filg

= a0 en 4 )

L i -1 1 0 2 -1 _
i A'+B =(0 1)+(0 %)=(0 V%),ETU(B)X:E%-
FER AT, AY =1 Al A7, 8K



(AB)" =1 AB| (AB)™ =1 AlI BIB'A" = (IBIB")(14A1A™") =B A" E[](D)ﬂ:jﬁ

....................................................................................................................................................

Z.Vﬁ(C)
(8] Ya=18508r4) =1. ¥a#18 HT
a 2 -1 a 2 -1
2 4 -2(=12 4 -2 |=4(a-1)*#0
-1 -2 @ 00 a-1
Hr(A) = 3.

T AB =0,A &3 x4, Hr(A) +r(B) <4.

MLrYa =10,r(A) =1,1 <r(B) <3

B &4 x 2 JFE, BrLA B BRI RESD 1 AT REDR 2, K (A) ((B) HIARIEH.
Ma#1H,r(A) =3, LA r(B) =1,(D) RIEH.

.....................................................................................................................................................

iz (B)
(¥#] P(AIB) =

24. Nk (D)
(ﬁﬁ] F)(}')

P(AB) _ P(A) s
P(B) - P(B) = P(A),[ii%&(B).

P(Y<y)
P(min{X,2} <y)

1 - P(min{X,2} >y)
1 -P(X>y,2>9)

1) Yy=28,F(y) =1, 4 BO)
2) My <28F,F(y) =1-P(X>y) =P(X<y) 1‘ —
_ {1 -e™, y>0, 1-e2%
0, y<0.
1, y=2, ] >
B Fy(y) = {1—e'",0<y<2, 2 y
0, y<O0.
HE(D)

25. hfiE (C)
[#8] P(4) = P(4) = 2-,P(4) = o, P(4,) =
FHH A AA, = @, FTLL P(AA,4;) = 0 # P(A, )P(A YP(A,) ,B(A) &

M P(AAA) = %#P(A,)P(Az)P(A‘,) = #(B) &

.|>|—-

16’

B P(AA) =0 # P(A)P(A) = 4 8(D)

fi:P(A,A,) = P(A,)P(4,) = %,P(A,A,) = P(A,)P(4,) = %
P(4A;) = P(4)P(A,) = -, BFEL(C) TEBh.
26. ik (C)
[fR] MBI KRB E LM, 2 F(x) 7] LUE 95070 R 00 H 070055 R 7E 2 SO 7448, T i
51 o ) pR S g A B pR L, T R B IS E LA o A A Y S PR BT



